[bookmark: _GoBack]Kostprijsberekening:

 Manuurtarief: 
Uurloon: € 6,03
Totaal uren: 5
Totaal te betalen loon: € 30,15




Machine uurtarief: 
Lasersnijder:
 Aanschafwaarde: € 4399,- 
[bookmark: _Hlk480395657]Restwaarde: € 3519,20 
levensduur: 4 jaar 
 afschrijvingskosten =  4399-3519,2/4 =  € 219,95
machine uurtarief=219,95/5 =€ 43,99
machinekosten=  0,2 x 43,99 = €8,80










lijmpistool: 
 Aanschafwaarde: € 24,23
Restwaarde: € 19,38
levensduur: 4 jaar 
afschrijvingskosten=  24,23-19,38/4=€ 1,21
machine uurtarief=  1,21/5= € 0,24
machinekosten= 3x0,24= € 0,72

[bookmark: _Hlk480394264]





Materiaalkosten:
Kunststofplaat: 500x500x2mm= € 12,75




Overig :
Computer : CAD
A4: € 1,82 per pak


